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ENAEIKTIKEZ ANMTANTHZEIZ

OEMA A ®EMA B
Al. Bl
o. Aabog AQAEKANHZA
B. Iwoto NAZOzZ
Y. 2ZwoTto KYKAAAEZNAZOZX
6. Aabog 4
€. Iwotd
B2.a
A2. def tipose(self):
1. ¢ if self.vathmos>=10:
rint "Ipo&yeTtoL"
2. ot else% Py
3.y print "Hopoméumetol"
4. a
5.8 B2.B
mathitisl = Mathitis (103, "NixoAdou", 19)
mathitis2 = Mathitis (105, "T'eswpylou", 9)
B2.y
mathitisl.tipose()
B2.6
mo = (mathitisl.vathmos + mathitis2.vathmos) / 2.0
print mo
B3.
(1)0
(2) word
(3) letter
(4) m
(5)1

(6) m




OEMAT

# -*- coding: cpl253 —*-
# OEMA T' - Moveddadilkég 2022

# @fpa T'3
def ypologismos(t):
1t t<=3:
x =t * 120
elif t<=06:
X = 3*120 + (t-3) * 100
else:

x = 3*120 + 3*100 + (t-6) * 70

return x

# ApyLlxomolinon petoBAnTdV
esoda = 0
poverl0 = 0

# Ofpa T'1
for i in range (50):

tem = input ("Adoce aplBud Tepaxiwv:

Xr = ypologismos (tem)
print "Xpéwon:", xr

# Ofpa I'2...

esoda += xr

if tem > 10:
poverlO += 1

# ...0¢fpa T2

print "SuvoAlk& écoda:", esoda
pososto = (poverl0 * 100) / 50.0
print "llocootd meAotodv:", pososto, "%

")



OEMA A

# -*- coding: cpl253 —*-
# OEMA A - Towveddadilkég 2022

# ApylLxomolinon petoBAnTdV
KOD = []

VATH = []
sumv = 0.0
count = 0
aa =1

# GEMA Al
code = raw_input ("Adoe kwdLxd vnmoyneLou: ")
code != 'TENAOX':
KOD. append (code)

vathmos = input ("Adce PRobuoroylio: ")
vathmos<1 vathmos >100:
vathmos = input ("Zovoaddoe Boabuporoyio: M)

VATH.append (vathmos)

# OEMA A2...
sumv += vathmos
count +=1

code = raw_input ("Adoe xwdLxkd unoyneLou: ")
# GEMA ...A2
mo = sumv/count

"Mécog 6pog:", mo

# OEMA A3
N = len (VATH)
maxv = VATH[O]
i range (1, N):
VATH[1]>maxv:
maxv=VATH[1]
"MeyoAUTepn Poabuoloyic:", maxv

i range (N) :
VATH[1] == maxv:
KOD[1i]
# OEMA A4
f = open("epityxon.txt", "w")
i range (N) :
VATH[1]>60:
f.write(str(aa) + '.' + KOD[i] + '"\n'")
aa +=1
f.close ()
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